)

2H-2 A5 S 40 F O §E271E AFsH] LERE 5]~
Ea7 7 2 AFE] A

@2l HolE szt

10

0 65

75

89

95

(cm)

70 80 90 100



chrrg ol

-
M

o
23

il
t:
o =
R o
= i
jo
¢
~ N
or
— N
™ H
= B
G
Gl
o) mh
o <k
o

o © © <t N

@ 200 ® 300 @ 400 B 500

@D 100



oA x°:y°:z°

O
)

ot

B 100

® 80 B 85 @ 90

D 70



o) T FH
s 1_|‘_ Q_OI‘_

] W | W

iy
)
o8

X

)

o
)

B EIRIE
¥ T T T
2R =122
© 0 0 @ @



g 1he XOY B $71E 7L Bl Aol Ao £A4S
HhE A & 2L

®

ENE

F B

® 0-606-6 06-6eeo 06 06066
@ O-0-6-0-0 06 O-O0-0-@-©



CF ¢ uj, ADEF

= BE

2¥go]1 AD

1
Ce %

™A AAB

o
=

o}

6.




Q@ 2440° 3 3240° @ 4420° B 5200°

@D 1240°



o2 oA BAHE AOB 2] Hol7F 32em? |
B3HE COD 9 §ol7t 12em? ¢ ©, .COD 9]
A71E Fstei=t




® AAA

B L7 =



@ W BCDM ® W MDEL

® W ABMN

® W KF1J

@ Y LEFK



ald

o]-& AlZke] 90

o] wA

A1l 3 % AA]

—~~
3o
<+ ol e <
ES
=
ol
I = g
=S L= L= =)
o DD (D
— S| AN O (00
H ===
N— ﬁ
= IS I R R
_/|_ ol
TR EER R
o |0 [0 |0
QDD (D
O OO
— [

2~

o

SHAH

S

el 5]
shola},

?‘

o]

%




ohe B Heold] Wl SRS HAH]  (rdesy

Aelg zArst] vebd Arieso] 28 0.5

mAE] LRI} FEu o] Hol ghent. 4T

=l " 727} 150em ©1 200em 7Rl 02 AT ==
S 57h 12 9 9 o, 50cm 014 100em o 4L AP Tk
u|utol shA S5 Lalodal, 0777100 1 200 1 300 | (emn)

50 150 250 350

(]
o
oR






14. o= ZdoA 4 79 2ol ot HellA whd ofl, «x o] 27]E T3}
ofzt.

T+5
3z—15°

2—107



15. o5 J2™oAM 2l gt wgol 1ozt & o, o5 F &

@@@@@

rlo
=~
rlo

A D oA ¥ AB o W A0 -2 3 A ¢F %] B o]t
H AD of A4 [ Afo]o] A= 5 ot

H AB 2F 211 -2 ¥ AD #o|r},

H AD o] 412 W DC o]t

A 9 BC Atole] Azlxh A D o ¥ BC Afole] A2]7}
o W



130>/

A50°

60°

135

o

I

-

ul



17. o2 ASAA A | ABFE ¢ 2 BAE BT At (T,
A2 AB = ABZ 327])




47, 21 A

®

4749, 1471

@
®

@, 970

T

N

O
(@)

244, 24 7

1l

. 20 7N

T

N

A



19. o5 ™A 2x o 2717

@D 60° @ 70° 3) 80° @ 85°

3 90°



20.

@D 120°

® 130°

4o]7} 6em ©]al, o

~-6cm”

A 140°

@ 150°

17} 16mcm?

3 160°

o
R

H
T



=
N
TotH?

=
=

e
IR A x o] Ao

@ 3cm

@ 2cm

— Ccm

21

@ 10cm






23.

Fol 44 s
A & w, 1 o] TEAAbl A Gl Ao FH2 B A ool

sJojof sH1?




FolA 2 AG, HF o n4&

D&, 2x+ Ly 42z 9 A7E
A
B
Yy
G
D
E

P, 24
oozt



@ 36mcm?

@ 64mem?

4cm

@ 48ncm? ® 52rcm?

B T72rcm?



